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. Prove that :

Prove that tan? & — sin? 8 = tan? 0.sin% 6 .

If tanx = % and x lies in the 3" quadrant then , find the value of secx .

. Prove that sec? 6 + cosec? 0 > 4.

. Find the value of tan 15°-

cos 17%+sin 17°
c0s 17%9—-sin 179

= tan 62°.

. Find the value of sin 135°. cosec 225°.tan 150°. cot 315° .

1

.Iftana=% , tanf = —— |, find the value of & + 8.

2m+1 '

Prove that sin? A = cos?(4 — B) + cos? B — 2 cos(A — B).cos A.cos B .

Prove that sin10.sin30.sin50.sin 70 = 1—16 )

10. If asin @ = b sin (9 + Z?n) = c.sin (9 + 4?”) , then prove that ,

ab+ bc+ca=0.

11. Prove that cos 66 = 32 cos® 6 — 48 cos* 6 + 18cos? 6 — 1 .

12. Prove that tan4x =

4tan x(1-tan? x)

1-6tan2 x + tan*x
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.If tanA —tanB = x,cot B — cot A = y , prove that cot(A — B) =

.If sin @ + cosec 8 = 2 , find the value of sin™ @ + cosec™6 .
. Find the value of sin 23°.cos67° 4+ cos 23° .sin67° .

. Find the value of tan 105° .

Rli—‘
‘<IH

Af cos(a + B) = g and sin(a — ) = % , a,f lie between 0 and % , then

prove that tan2a = 2—:

If cosA =§ _then find the value of cos 24 .

. Find in degrees , the angle between the hour hand and the minute hand of a

clock at half past three .

sin 5x+ sin 3x

.Prove that: —————— = tan4x.

cos 5x+cos 3x

Af cos(a + B). sin(y +6) = cos(a — B). sin(y — &), prove that ,

cota .cotf .coty = coté.

10. If a + B =907, find maximum and minimum values of sina .sin§ .

3 3 . .
11. If tanx = R <x< 7” , find the values of smg , cosg ,tang .

12. Prove that cos3® A + cos3(120 + A) + cos3(240 + A) == .cos 34 .
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1. If cotx = —15—2 , x lies in the 2" quadrant , find the value of cosec x .

2. 1f cos@ + sin@ =\/7c056,provethat, cosf —sin@ = /2sinb.

3.1f 3tanA.tanB = 1, prove that, 2 cos(4 + B) = cos(4 — B).

4. Prove that sin? (g - %) = \/_15 .Sin4.

51f 6+ d=a andtanf = K.tan @, then prove that ,
: _ k-1
sin(8 — @) = o -Sina .
6. If asin® = b cos @ , then find the value of sin 26 .

7. Express 48° 37’ 30" in radians .

8. Prove that : (cosA — cos B)? + (sinA — sin B)? = 4 . sin? % :

cos4x + cos3x + cos 2x
9. Prove that : — _ _ = cot3x .
sin4x + sin 3x + sin 2x

10. Prove that cos 20 .cos40.cos60.cos80 = 1—16 )

11. Prove that cot72 = (V3 +VZ)(VZ+1).

sec86—1 _ tan86
sec46—-1 tanz20

12. Prove that
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